YUTAELIIVTTDRARE, WERELGEITONT (2014448 ~20215£4 A £5)
= K& H—TUBEEAH Bz AT AHR i R
ADLOFERH 2mem | man | 2R | pan | 202 | man | 200 | man | 20 | man | Z0OR | man | PR | man | MOR | manm

#H17 Bf-EY=>El\Y 21% 2%z 2%z 8% 6% 1% 2%

Hvg=>Dfz\bE 154 2% 3% 2% 5% 2% 1%

BN =2YMN-h—/51T8 34 1354 174 314 174 414 1% 23% 1% 4% 14 2%

BWI=>KEST/ M B154T 40% 2% 134 4% 8% 104 34

BWI=>BIHT 11% 1% 5% 2% 2% 1%

YN —h—/BTHESBBT 314 1% 8% 1% 104 5% 4% 2%

YN —h—/ BB BILHT 174 2% 1% 3% 6% 2% 2% 1%

DfzWBESYIN-D-/ BT 1% 11% 2% 1% 1% 8%

Df=WEESRSHT 2% 1% 1%

Df=LEESBIST 12 1% a4z 1% 4% 2%

HEST/ MBS T=>8I51T 324 3% 5% 1% 124 3% 3% 5%
Bt ﬁ FTLYNATOREHY= 162 1514 2% 2% 384 2% 6% 5% 584 1% 174 5% 194 1% 114
BE %I@éﬁkﬁ& 2% 48% 4% 134 4% 114% 2% 9% 6% 1%

W= ER 1% 654 9% 5% 1% 174 234 5% 5% 1%

BER=KER 4% 1084 124 364 9% 34 25% 6% 14% 1% 6%

VIrE=SEEH 64 24 34 1%

YIZrRE=>—0XK 64 4% 2%

VILRSEER 194 124 54 2%

XY —YILE 5% 1% 14 34

SXHY—=2FEH 74 1% 34 18 18 18

XY —=—0OK 84 5% 2% 18

SFRH—=EER 84 14 34 18 2% 18

EH>—0OK 28% 84 4% 5% 64 2% 34

EXH>EER 344 24 14 174 64 64 24

—OX=>EE 724 6% 194 144 24% 5% 34 14

B55=>—&MEN 84 2% 6%

BAO=>3%4— 4% 34 1%

B53=> 24 2%

855 =>HiR 94 2% 5% 1% 1%

B55=>VItE 34 3%

BA5=>—H0XK 74 1% 3% 2% 1%

BE5=>EE 9% 1% 3% 2%z 1% 2%
& 274 9344 0% 804 2% 2004 34 1132 84 298% 5% 1214 64 874 34 354

W 9IENODIVT P




